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Ne | lloppiaTerpanshas ¢ynkims f(x) | Wutepsan unrer- | TOUHOCTH BBIUMC-
/Tt pupoBanus [a; b] | neHwmit mATETpaa
1 Inx/x+l1+Inx [1;3.5] 0.001
2 1g°x +ctg’x [7/6; [r/3] 0.002
3 1/xInx [1.5,3] 0.0001
4 In® x/x [1.0; 4,0] 0.003
5 Jo —1 [0; In2] 0.0015
6 xe” sin x [1.0; 4.0] 0.002
7 xex -e " [0.0; 2.0] 0.001
2
8 1ot [2.0; 5.0] 0.001
9 sin(1/x)x* [1.0;2.5] 0.0005
10 x’arcigx [0.0; 4/3] 0.003
11 arcsin/x/(1+ x) [0.0; 3,0] 0.001
12 x*(1+1nx) [1.5;3.0] 0.0025
13 T+ 3x 120 [0,0; 5.0] 0.001
14 014 /x [2.3; 6.0] 0.002
15 2% 1n|cosx| [0.0; m/2] 0.001
16 (e +1)/le” +1) [0.0; 2.0] 0.0015
17 varctge/ 1+ x* [0.0; 2.0] 0.002
18 sin® x/In(l +x° ) [0.0; /4] 0.001
19 N [0.0; 1.8] 0.0006
20 e” cos’ [0.0; 7] 0.0016
21 (15> + )/(x3 2) [0.0; 1.2] 0.002
22 (sin—x*)/(x*> +2.7) [2.0; 4.4] 0.0014
23 (3.51gx + x)/(x* +3.7) [0.0; 1.2] 0.002
24 (1 2-3.2¢*)/(1+sin’ x) [2.0; 4.4] 0.0011
25 (3.17x +4,2)/ cos” x [1.0;2.2] 0.0023
26 (x> +32)/(x* +4.7) [0,0; 1.8] 0.0015
27 (5% +x)/(x* +2) [0.0; 1.2] 0.001
28 e’ 1n|sinx2| [1.0; 3.0] 0.002
29 e e [0.0; 1.0] 0.0013
30 (1.6x—2,7)/(1.5x* +3.9) [1.0;2.2] 0.0025




